Start by stressing the importance of understanding the differences forms of a linear equation because it will help

in writing equations.

Writing Linear Equations

Arrange the given linear equations, 1-9, so they are in the column corresponding to their form.

1. y—5=%&+2)

Slope-Intercept Form

Point-Slope Form

Standard Form

y=mx+b y—ylzm(x—xl) ax+by=c
2 y——%x+6
1 2 3. 2x=3y=12
3. 2x=3y=12 2. y==_x+6 1 y-5=2(x+2) Y
4. y=5x+14
6. Sx=7y=10
5. y+3=5(x=7) |4 y=5x+14 5. yp+3=5(x—7)
6. 5x=T7y=10 8. 12x+y=2
5 4 5
7 —11===(x-9)|9. y==x-3 —11=="(x-
y S(r=9)|9. y=7 7. y=11==2(x-9)
8. 12x+y=2
4
9. =—x-3
Y77
What information 1. Slope=m 1. Slope=m

does each form give
us?

2. y-intercept= b=

(0.6)

2. Apoint= (xl,yl)

1. x-intercept= 5,0
a

2. y-intercept = (O,

S o
———
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Given a graph, write
an equation for each

form of a line.

* After you find the
intercepts you could then
find the slope to use the
slope-intercept form.
Then transform it into
standard form. Either way
have students notice that
the intercepts are not the
coefficients.

~

4 7
8
:
3 i
2
:- 5543-211 2 h7=x (21
Y .2
a4 o
;
:
1. Slope=m 1. Slope=m
Rise up2 2 yz—ylzl—(—2)_1+2 3

Run right 1 T

2. y-intercept =(0,-2)
b==-2

sy=2x-2

Xy =X

.-.y_1=%(x_z)

2-(-2) 242 4

2. Apoint=(x,,y,) = (2,1)

bt

r
£
'
o1
o e b = =
L~
e

4

L 4

1. x-intercept = (5,0)
2. y-intercept = (O,—S)

If£=5,then a=£and
a 5

if $=-5, then b=
b 5

Substitute ¢ =< and b= ——
5 s

c c
§x+—5y= ¢, clear denom.

cx—=cy=5c,now let c=1 to get
x—y=5*

Sx—y=S5

You Try: Write an
equation of the line
graphed below in all 3
forms.

Slope-Intercept Form
y=mx+b
1. Slope=m
Rise _ upS5 _5
Run  right 7 7

2. y-intercept =(O,5)
b=5

5
SLy=—x+5
Y 7

Point-Slope Form
y=W =m(x—x1)
1. Slope=m
Rise _ upS5 _5
Run  right 7 7

2. Apoint = (X1a)’1) = (0,5)

Standard Form
ax+by=c

1. x-intercept = (—7,0)
2. y-intercept = (0,5)

3. Transform into Standard
form.

*Notice the coefficients.

5 5 5
——x+y=—x——x+5
7 7

7
—§x+y=5
5
- 7(— 7x]— 7(»)=-7(5)
Sx=T7y==35
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Given a slope and y-
intercept write an
equation for each
form of a line.

Slo e-z
Pe=3

y-intercept = (0,—5)

2
1. Substitute m = 5

2. Substitute b =-5

2
Ly=—x-—5
=3

2
1. Substitute m = 5

2. Substitute the y-intercept
for a point. (xl,yl) =

(0.-5)

.'.y+5=§(x—0)

2
+5=—x
R

1. Substitute m=

W

2. Substitute b=-5

3. Transform the equation into
standard form.

-—x+ —gx——x—S
VT30

3
—§x+y=—5
2
-3 =69
2x=3y=15

You Try: Write an
equation of the line
when given a slope
and y-intercept in all
3 forms.

Slope = 5
y-intercept =—2

1. Substitute m=5
2. Substitute h=-2

s y=5x-2

1. Substitute m=5

2. Substitute the y-intercept
for a point. (xl,yl) =

(09_2)
s y+2=5(x—0)
y+2=5x

1. Substitute m=5
2. Substitute h=-2

3. Transform the equation
into the standard form.

—Sx+y=5x—-5x-2

—S5x+y=-2
—1(-5x)-1(y)=-1(-2)
Sx—y=2

Given a slope and a
point write an
equation for each
form of a line.

Slope = — %
5

Point = (— 5, 3)

. 2
1. Substitute m = _g

2. Substitute x =-5 and
y =3 to solve for b.

3. Sub. m=_§ and

: ——3x+l
Sy s

b=1

1. Substitute m =_§

2. Substitute the point.
(xlayl) = (—5, 3)

y—3=—%(x+5)

1. Transform point-slope form.

5(y)+5(-3)= 5(-%}“ 5)

5y—15=-2(x+5)
5y—15=-2x-10
2x+5y—15=-2x+2x-10
2x+5y—15+15=-10+15
2x+5y=5

Page 3 of 8

MCC@WCCUSD 12/05/13




You Try: Write an
equation of the line
when given a slope
and apointinall 3
forms.

. 1
1. Substitute m=_Z

2. Substitute x=-8 and
y =1 to solve for b.

1. Substitute m= _%

2. Substitute the point.

@m%)=G&D

1. Transform point-slope form.

4(y)+4(-1)= 4[— i}x +8)

4y—4=-1(x+8)

1=——(-8)+b
Slope=—l 4 4y—4=-x-8
4 1=2+b .'.y—1=—l(x+8) x+4y—4=-x+x-28
Point =(=8,1) 1=2=2-2+b 4 x+dy—d+d4=—8+4
-1=5 x+4y=-4
1
3. Sub T4 andb
1
=——x-1
YT
i i - - 1. Transform slope-inter. form.
GIYen two pmpts 1. Sub.=m= nTh 1. Slope=m= NTh P
write an equation for X, — X Xy — X

each form of a line.

—8+2 6 1

-8-(-2) _-8+2 _-6_ 1

8+4 12 2 8—(-4) 8+4 12 2 2 2
. 1
Point =(8,— 8) 2. Substitute x =—4 and 2. Apoint:(x]’y]):(—él.,—z) Ex+y——4
y ==2 to solve for b.
Point =(-4,—2) | 2[_XJ+ 2(v)=2(-4)
—2=——(-4)+b 1
2 .‘.y+2=——(x+2) x+2y=-8
-2=2+b 2
-2-2=2-2+b
-4=b
1 b=
3. sub. T T and” T T
1
=——x—-4
YT
: i - - 1. Transform slope-inter. form.
YouT.ry.ertearm 1 Sub=m=2"N 1. Slope=m=22"1 p
equation of the line X, — X Xy — X
Whe:g.'veﬂ;“;o 2-2 4 1 22 22— 4 1 SR B B
ntsina orms. =—=—— = =—=—— 3 =-—gx+-
points | > 9+3 12 3 —9-(=3) 9+3 12 3 3 373
2. Substitute x =-3 and 2. Apoint=(x],y])=(—3,2) lx+y=1
Point-(9 2) y =2 to solve for b. 3
=(9,— |
: 3 —x [+3(y)=3(1)
Point =(-3,2 =-—(- :
R 2 3)+b 1
3 ny=2=—(x+3) x+3y=3
2=1+b 3
2-1=1-1+b
l=b
-] b=1
3. sub. "= 73 and” "
1
Sy=——x+1
S
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Writing Linear Equations

Arrange the given linear equations, 1-9, so they are in the column corresponding to their form.

N
<
|
|
I
=
+
(o)}

(6] D w
= =
+ 1]
W
I =
a7t
= =
|
BN |
\ —

Slope-Intercept Form

y=mx+b

Point-Slope Form

y=n =m(x—x1)

Standard Form

ax+by=c

What information
does each form give
us?

Given a graph, write
an equation for each

form of a line.

~

Toh}

I I ey

@1

&

v
=

[~

bt

h 4
=

Fy

£
.

o1

g b = =
L~
e
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You Try: Write an
equation of the line
graphed below in all 3
forms.

Slope-Intercept Form

y=mx+b

Point-Slope Form

y=n =m(x_x1)

Standard Form

ax+by=c

Given a slope and y-
intercept write an
equation for each form
of a line.

Slo e-z
Pe=3

y-intercept = (0,—5)

You Try: Write an
equation of the line
when given a slope
and y-interceptinall 3
forms.

Slope = 5
y-intercept =—2

Page 6 of 8

MCC@WCCUSD 12/05/13




Given a slope and a
point write an
equation for each form
of a line.

Slope = — %
5

Point = (— 5, 3)

You Try: Write an
equation of the line
when given a slope
and apointinall 3
forms.

1
Slope = ——
P 4

Point =(-8,1)
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Given two points write
an equation for each
form of a line.

Point =(8,-8)

Point =(—4,-2)

You Try: Write an
equation of the line
when given two points
in all 3 forms.

Point =(9,—2)

Point =(~3,2)
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